Q1.

a)

b)

c)

d)

e)

Tage(Teia (Maia (0 gname="catering’ D€PL)) X Works) > Emp)
”salary((”eid((”did(UbudgetzsooooDept)) >4 (Opct,,230WOTks))) 4 Emp)
Tsalary(DePt  MNpept manageria=Emp.eia EMP)

Tename(Emp ™ ( (Teiqa(Taia (0 gname="marketing' DePL)) X Works)

U

(Teia (Gpcttimezso Works)) ))

p(TMP, Dept )

T[manageridDept ~ Tmanagerid (Dept ™ (pept.managerid=TMP.managerid)" (Dept.did<>TMP.did) TMP))



Q2.

a)

CREATE TABLE Works(
eid INTEGER,
did INTEGER,
pct_time INTEGER,
PRIMARY KEY(eid,did),
FOREIGN KEY eid REFERENCES Emp,

FOREIGN KEY did REFERENCES Dept

b)
SELECT E.ename
FROM Emp E, Works W, Dept D, Emp M
WHERE E.eid=W.eid AND W.did=D.did AND D.managerid=M.eid AND M.ename="Steve Smith’;
c)
SELECT El.age
FROM Emp E1
WHERE E1l.eid NOT IN (
SELECT E.eid
FROM Emp E, Works W, Dept D

WHERE E.eid=W.eid AND W.did=Dept.did AND D.budget < 20000

)



d)
SELECT E.age
FROM Emp E

WHERE E.salary = (SELECT MAX(salary) FROM Emp)

e)

SELECT D.did, AVG(E.salary)

FROM Emp E, Works W, Dept D

WHERE E.eid=W.eid AND W.did=D.did AND E.age < 45
GROUP BY D.did

HAVING 10 <= (SELECT COUNT(*) FROM Works W1

WHERE W1.did=D.did

)

f)
SELECT E.ename
FROM Emp E WHERE NOT EXISTS(
SELECT D.did FROM Dept D
MINUS
SELECT D1.did FROM Dept D1, Works W

WHERE D1.did=W.did and W.eid=E.eid

)



8)

SELECT TMP.dname
FROM (SELECT D.did, D.dname, AVG(E.salary) AS avgsal
FROM Dept D, Emp E, Works W
WHERE D.did=W.did AND W.eid=E.eid
GROUP BY D.did, D.dname
) AS TMP

WHERE TMP.avgsal = (SELECT MAX(avgsal) FROM TMP);



